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2023 TNPSC EXAMS QUESTIONS - TIME AND WORK

1) Akash can complete a work in 3 days, whereas Radha can complete it in only 6 days. If
they work together, in how many days, can the work be completed?

@ GCaumeveml 9 &T6Q 3 HITL&6eflev (g LILmy. HCH
GaumeLemIL ST (LPIg5& 6 IHITL&6T 4, GLD. Q(HeU(HLD CFJHG)
QEFWGHIT6L, 6UGCEUMELEMIL 6T HG6M 60T HTL_SH6efl6L (LPlgLILI?

(A) 1

(B) 2

(C)3

(D) 4

2) Pari needs 4 hours to complete a work. His friend Yuvan needs 6 hours to complete
the same work. How long will it take to complete if they work together?

e (Ih GeuemevemIW 4 Lo6voNl CHY & SleL LMl QFWHS M. W6t 1CH
Geausmevemwl 6 Lo6voil GHITSHHleL QFUWIKIMTI 6T6fl6L @) (6 (LD
GCeIhgl 3ihHG CeumeLamIE QFIUIGI (LPIg.58 67556060 LDG6vT
GHILOM(GLD?

(A) 2 hours 20 minutes 2 LO6BOT1& 61T 20 [HILBIL_H1 & 61T

(B) 2 hours 40 minutes 2 LD6BOT1& 61T 40 [HILOIL_F1 & 61T

(C) 2 hours 24 minutes 2 LDG6BOT1& 61T 24 [HILBIL_H & 61T

(D) 2 hours 44 minutes 2 LDG6BOT1& 61T 44 [HILBIL_I & 61T

3) 'A' alone can do a piece of work in 35 days. If 'B' is 40% more efficient than 'A’, then
'‘B' will finish the work in how many days?

'A' 6T6oTLIGU T & 601G W 62 (I GeuemevemW 35 HITL & 61fl6L (LPLg LILITI. ‘B!
ah6urell, ‘A-2 el 40% Fa.(h &6L SHM6HT euMLilh e eT6vfl6v, 'B'
9,601 3iHG CeuemeveMIL 6T &G M6IT HITL_Safled (g LILIT?
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(A) 15 days
(B) 25 days
(C) 35 days
(D) 45 days

4) A mat of length 180 m is made by 15 women in 12 days. How long will it take for 32
women to make a mat of length 512 m?

180 LB Hem(peirern epp Lmuilement 15 QLIGUOT S 61T 12 HITL & 6fl6L
Qawigery. 512 LB Herpeien epm LITuilem6or 32 ClLIGHIT & 61T Q& LW
6T &5 60 60T [HITL_561T ), (FLD?

(A) 16 days

(B) 12 days

(C) 18 days

(D) 24 days

5) A and B can together finish a work in 30 days. They worked together for 20 days and
then B left. After another 20 days, A finished the remaining work. In how many day A
alone can finish the jop?

A LDOMID B pAICWTT @ememrhgl (b Geusmevemil 30
BIL&eflev (pguul. @@meu@md C&JHE 20 HTL&6T Geusmev
Qs NI B Qgam eNGHMTY. BgUpsTen Cousmevsmul A 20
BT &efleb (prUumy ereflev, (Lp(LY GousmevemI A 6T &8 660
HTLS6afl6v (LpigLILImy?

A) 60 [HITL_&6I
B) 54 [HITL_&6IT
C) 50 [HTL_&6I

D) 40 [HTL &6

TO JOIN OUR TEST BATCH: 9486136884



KARKANDU KANITHAM TEST BATCH FILES
www.karkandukanitham.in

6) A alone can do a work in 10 days and B alone in 15 days. They undertook the work for
X2,00,000. The amount that A will get is

A eTeoTLIeU] &6uflGIL e (b CauemevemL 10 HTL&6fleV|LD B ) 6T

SeoflG 15 HITL_S6flgId (LplgLILIT. 16U & 6T @h& Causnevemil

2,00,000 Q& TN & & (G PLIL& GG T6HOTL_ 6 6T6vfl60, A QUMILD QAFHT M &
2 G!b.

(A) X1,00,000
(B) X1,20,000
(C) X1,50,000
(D) X1,02,000

7) P alone can do % of a work in 6 days and Q alone can do g of the same work in 4

days. In how many days working together, will they finish Z of the work?

P eTaTLIOU] S6vflGIL s (b, Gausmevullem % LGSlenwl 6 HTL&efley|d,
Q eT6dTLIoUT &6 IGW G Geuemevuileor § U@GSlenw 4 HTL&efley|Ld
WUy @G @aehgl bHS CalsmeouNsi - LGS
6T 5 8 6M 60T [HITL_&61fl6L (Lpig LILI?

(A) 2 days

(B) 3 days

(C) 4 days

(D) 5 days

8) A and B can do a piece of work in 12 days, while B and C can do it in 15 days, whereas
A and C can doitin 20 days. How long each take to do the same work?

ALOMHMILD B Sp&ECWIMT ¢p(h Cauemevemil 12 HTL&afley|Ld 8 LOMHMILD C
4, HCWTT e 15 HTL&aflY|Ld A LOHMILD C JHCWITT M 20
BT &efleVibd (WIgLILf. 626uQaUT(HeU(HLD & 615 & 6aNGIW 3ihHs
GeumeL MW 6T 5 G 6M 68T IHITL_&61fl6L (Lplg LILIf?

(A) A—20 days, B — 30 days, C— 60 days
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(B) A—30 days, B— 60 days, C—30 days
(C) A—30 days, B—20 days, C— 60 days
(D) A—60 days, B —20 days,C — 30 days

9) In a day 14 workers assemble 42 units. How many units would 23 workers assemble?
@b BIeflevL 14 QGTLNELTETT & 6T 42 3i(h & (8 56N 3I6MLD &163T M 6V
eT6vfl6L 23 QGHMLHIGLITETI & 61T 6T &G 6 60T 3i(h & (8 86061
SIMLOLILITIT&6IT?

(A) 60

(B) 65

(C) 69

(D) 68

10) 35 cycles were produced in five days by a company then the number of cycles that
can be produced in 21 days is

(15 O Hleuevurig 2 MUGH QFWIL|LD [HIM]6UEITLD 35 LOIF)61 6V0TIG. & 61 61T
BH G| HILsHeflev 2 MU CFWIHIME), 6T6v16L iTHIHIM]6UEGITLD 21
HTLS6af6L 2 MuGH& Qauiu|d L& erevoriq & 6rfleor 6T 6016001185608

(A) 170
(B) 150
(C) 147
(D) 100

11) 8 farmers can plough a field in 18 days. Find the number of days required for 12
farmers to plough the same field.

8 alleugmuilg 6t 18 6B 6flev oL &M S 2 (LD Gl (LP1g-& Hl6oTMm 61
6T60fl6L, 9ICH HlELHMG 12 ATNUFTUNG 61T 6T & G 60)60T [HIT6ITS 61Fl6L
2 (Lp&I (LplgLILIT.

(A) 22 days
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(B) 12 days
(C) 10 days
(D) 15 days

12) 2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do
the same work in 8 days. In how many days can 2 men and 1 boy do the work?

2 94,6001 8 61T LOMHMILD 3 FIMIUT& 6T CFIH G €2 (5 GeuemevemILl 10
BIL&6afleL Q&G (WigUU. 3G CalmeV6mLL 3 3460018 61T LOMHMILD
2 SimIeup &6 GEFJHG) 8 HIL&eflew Q&I (LpigLILIT eTevfleL 2
34,6001 8 61T LOMHMILD 1 MU C&JTH G 3161 C66M VMW 6T S G 6 60T
HTLS6M6L (LP1g.58 (LPlg ULD?

(A) 12 % days

(B) 12 days

(C) 13 % days

(D) 13 days

13) 'A' can do a certain job in 12 days. 'B' is 60% more efficient than 'A'. How many days
does 'B' alone take to do the same job?

'A' 6@ (Ih Geuemevemw 12 HTL_&61fl6L (LPLLILIMIT. 'B' 6T6OTLIOUT A &Y el
60% SHMEMLOWIT6TEUT, 6T 60 l6L HGCH Gouem VML 'B' 6T &S 61)60T
HTLS6afl6L (LIg.LUM.

(A) 8 days

(B) 8 1/2 days

(C) 7 days

(D) 7 1/2 days

14) If 48 men working 7 hours a day can do a work in 24 days, then in how many days, if
28 men working 8 hours a day can complete the same work?

48 3}, 60018 61T € (I, G6UEM 6L ML [HITCIETIT6OT M5 (S 7 LO6TTI GBITLD
Geauemev Q&G 24 HITLGafl6L (LIg.LILIT 6T6vfl6L 28 ), 600TH 61T AGCH
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GCeaumevemIl HITCaTT6TM| & (S 8 Lo6uoll CHILD Geuemev CFIIST6L
316U G6UEmEV 6B 6T & & 60 60T [HITL_&61fl6L (LPIg LILIT?

(A) 38 days

(B) 36 days

(C) 35 days

(D) 34 days

15) 'A' can do a work in 45 days. He works at it for 15 days and then, 'B' alone finishes
the remaining work in 24 days. Find the time taken to complete 80% of the work, if they
work together

A 8,616l 6(h GEaUEmEVEMLL 45 HITL&6MI6L (LI LILIT. Si6u 15
BTL&EH& @ WL (HGCL Galsmev Q&FWISTH. LNMG B 34 6vT6uI)

LB 5L\ (HH S Geusmevullsn ot 24 HTL_&6fleL (LPIgSH M. @\, 6u(HLD
@ enemrih Gl Geuemev QFIIGTEL, 3IhG Geusmeouiledr 80% & (LPIg.&58
3G CHISHMGHS &IT6H018.

(A) 20 days

(B) 24 days

(C) 16 days

(D) 36 days

16) 10 men can complete a piece of work in 15 days and 15 women can complete the
same work in 12 days. If all the 10 men and 15 women work together, in how many days
will the work get completed?

10 S}, 60015 61T 6 (1h Geuemeveml 15 HITLSerflev (Lplg.LILIy. 15 GILIEHHT & 61T
GG Gausmevemil 12 HITL&6Fl6L (LPIqLILIT. 10 S 6001 S (ETHLD 15
QU6 & (EHLD C&FIIH G| QeUGEUMEVMILI (LPL.& 8> 6T 58 60 60T [HITL_5 61T
2B ?

(A) 6

(B)6 1/3

(C) 6 2/3
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(D)7 2/3

17) A man takes 15 days to finish a job whereas a woman takes 20 days to finish the
same job together they worked for 6 days and then the man left. In how many days will
the woman complete the remaining job.

] CeUmMEVLEMIL (LPlg58 6I] I,600T 15 [HITL_& (EHLD 61f ClLI6voT 20
BITL_&(E5HLD 6T(GH G QASHmeTHleTmenry. QheU(bHLD CFJIH G| 1HG
GeuemevemILl 6 HITL&6T Q&G LNM(EG AHHG 34,6607 C6or6mEL6m L
all_® Qasarm NG HmTY. g peTer Gousnevsmil ifhg ClLIcudT
6T & 860 60T [HITL_561fl6L (LPpIg LILITE?

(A) 4

(B) 6

(C) 8

(D) 10

18) A works 3 times as fast as B and is able to complete a task in 24 days less than the
days taken by B. Find the time in which they can complete the work together.

A 94,60T6U0 B 2 SITL_I.6V|LD 3 LOL_Thi(G GeusHLoms ¢ (b Geusmevemil
Q&G (LIgLILTT. 316U 3ifh&L Licflenil 8 6T(h & GI&H & TeuoTL
ChI&mG ailL 24 HTL&6T GmMeUns eT(h &) (P65 (PlIgHMF).
@WeumLd CEFIHE HG Geumevemill (LPlg5& ) (GLD CHI &M

& IT 6001

(A) 3 days

(B) 9 days

(C) 12 days

(D) 24 days
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19) A soap factory produces 9600 soaps in 6 days working 15 hours a day. In how many
days will it produce 14,400 soaps working 3 more hours a day?

e CEFTUYS QFHTLAMFTME0WIT6T &) [HTCQATT6TMI& (& 15 LO6wof
GBI Geuemev Q&) 6 HITL&Hefl6L 9,600 CHFMLIL|& M6
SWf&SmG|. HICeTTaTm| &G Fo(h&H6LME 3 LOeuoNl CHILD Geuemev
Q&) 14,400 GEFMTUL&6T HWTHSHSH GG 6TH8 60 60T [HIT 6118 61T
3HGLD?

(A) 7 ¥ days

(B) 15 days

(C) 8 %2 days

(D) 17 days

20) A mat of length 80 m is made by 6 men in 15 days. How long will it take for 16 men
to make a mat of length 256 m?

80 LB Bem(Lpeiten e LITUil6m 63T 6 94,6001 561T 15 HIT6ITSH 61160 G & LIS 60Ty
256 LB Hem(LpeiTen e LITuil6m 60T 16 965018 61T CI& LI 6T & 8 60)60T
IHIT6TS 6T ), (FLD?

(A) 14

(B) 16

(C) 18

(D) 20

21) P alone can do a piece of work in 6 days and Q alone in 8 days. P and Q undertook
the work for Rs.4,800. With the help of R, they completed the work in 3 days. How much
is R's share?

P eT6oTLIEU SfIGIL ¢ (I Geuemevemill 6 HT6T&EflEVILD Q 6TETLICUIT
HGw 31C8 Ceusmeveml 8 HT6T&HafleVILD (LPIg.LILIT. P LOMMID Q
SLECWITT QHG CeruemevemL €Mh.4,800-5(8 SPLIL|S Q1 &ITEHITL 6. R

6T 6oTLIEUIl60T 2_ &L 63T, 6UT & 61T IHG GCeuemevem I 3 [HITETSHafl6L
(195 &60T1], 6T63fl6V, G561 & UTN6L R-60T LIMhI(G) 6T6L6U6T6Y?
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(A) Rs.580
(B) Rs.585
(C) Rs.590
(D) Rs.600

22) 6 women or 8 men can construct a room in 86 days. Then the time taken for 7
women and 5 men to do the same type of room is

6 CILIGTUT & 61T SI6L6VL G| 8 3, 6V0TE 61T 621J SMMEBLLI 86 HTETH Afl6L &1L,
(PIgUIL. 315 GUTETM SIeMMEMIL 7 GILIGUIT& 6T LOMMILD 5 2, 65018 61T
&L 1q (PI9855 3,(GLD HITL &6

(A) 48 days

(B) 84 days

(C) 42 days

(D) 24 days

23) Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 24
minutes. If the tank is empty and all the three taps are kept open, in how much time the
tank will be filled?

@ QAHTL1q6mWw @ (H GLOTIS 6T &6vfl& GHeNCw (pemmGul 30
OIS 61T, 40 HILOIL_Mai&6rfl60L HIFLILElGTMG). LOHRAMIT(H (SLPMUI
B HipwNw QST Igemw 24 BHILOILMusefléL &medl Qgulu|Lb.
Q&ML STedlwns @\(HHG @D TMI GLOMILS EDHLD Gl
FLOWHH6L FlMHG eIl LLLLT6L, HASHTLLg. 6T 58S 60 601
HILBIL_misefleL HIFLDOLLD?

(A) 60 minutes 60 [HILOIL_MFa1 & 61T
(B) 46 minutes 46 IHILOIL_hI & 61
(C) 94 minutes 94 HILBIL_h & 61
(D) 24 minutes 24 IHILOIL_M & 61T
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24) A and B together can do a piece of work in 8 days, but A alone can do it in 12 days.
How many days would B alone take to do the same work?

@ GCauamevemil A, B @(heubLd GCFJHG 8 HTL&aflev (Lplg i, A
oL (HLD Si6uGeusmevenW 12 HITL_SefleL (LPig LU, B LOL (LD

316U G6UEm V6B 6T & & 60601 [HITL_&61fl6L (LPLg LILITI?

(A) 4 days

(B) 20 days

(C) 24 days

(D) 8 days

25) A and B under take to do a piece of work for Rs. 1200. A alone can do it in 8 days,
while B can do it in 6 days. With the help of C, they complete it in 3 days. Find C's share?

¢ (h GeuemevemW A LOMMILD B @ (HEUUBLD €. 1200 & (G CIFIG] (LPIlg 58
6T 6voT 6uvf160T). I6UGEUMEVEMUI A LOL (BLD Hofms 8 HTL&6afley]Ld, B
LB Hewims 6 HTLsefleL Q&G (WigLUIT. HHCUTE)
l6UGeumEV ML A LOMMILD B @) (1H6U(THLD C 6T60TLIEU (I L60T )6 6001 I &)l
3 HTL&6fleL Q&G (Lplg5G6uTI] 6T6ufl6L C 6TETLIOU(H S (S Hl6L & (GLD
6018 QHTeMS WITGI?

(A) Rs. 150

(B) Rs. 100

(C) Rs. 450

(D) Rs. 300

26) If 6 men or 8 women can finish a work in 12 days. In how many days 9 men and 12
women will finish the work?

6 S, 60015 61T (1) 8 CILIGTIT & 61T (I GEUMEVEMIL 12 HITL&61fl6L
(WPIg LILITT&6IT 6T60fl60 9 96031 & (ETHLD 12 GILI6VIT & (61HLD

316U G 6L 6V 6B 6T & G 61 60T HITL_& 61Tl6L (LPIg LILITIT&6IT?

(A) 4 days

(B) 3 days

TO JOIN OUR TEST BATCH: 9486136884



KARKANDU KANITHAM TEST BATCH FILES
www.karkandukanitham.in

(C) 6days
(D) 5 days

27) A and B can do a piece of work in 12 days and 20 days respectively. They started to
work together and B left after some days of work and A finished the remaining work in 4
days. After how many days from the start did B leave?

ALOMHMILD B Sp&HCWIMTT ¢p(h Caumevemll (PemMGLL 12 LOMHMILD 20
BITL_S6fl60 (LIg.LILY. U & 6T @ (HeUBLD 6T GFThG)
GCausmevemw s QGTL M. Fl6v HTL 6T Geusmev C&FUIG LM B
sperauj Qgerm eNGH M. IBgeTar Calmevsnul A gy 6Tl 4
BHITL 660 (LI &S 6T6ufl6L QG ML MRS S0 (HHS) 6T 58 60 601
BIL&EHSE L1IMG B Geusmevenl el (B Q&6TmImiy?

(A) 8

(B) 7

(C) 6

(D) 5

ANSWER KEY:

01)B 02)C 03)B 04) A 05) A 06) B 07)B
08) C 09) C 10) C 11) B 12) A 13)D 14) B
15) C 16) C 17) B 18) B 19) A 20) C 21) D
22) A 23) A 24) C 25) A 26) A 27)D
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